Worksheet 23

Sections 306 and 310
MATH 54

Nov 8, 2018

Exercise 1. Use variation of parameters to find a general solution for the following:

y" +y = sec(t)
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Exercise 2. Use a combination of the law of superposition, undetermined coefficients, and
variation of parameters to solve the following:

y' +y=3sec(t) —t* +1

Note: You already did the variation of parameters part in exercise 1!
Why might someone want to use this method rather than just use only variation of param-

eters? , pocticdef
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Exercise 3. Use the method of variation of parameters to show that:
¢

y(t) = c1 cos(t) + cosin(t) + / f(s)sin(t — s)ds
0

is a general solution to the differential equation y” +y = F(t) where f(t) is a continuous
function. Hint: Use a trig identity for sin(t — s).
Af Q\W&\/_( . ‘\‘\\C C\'rﬁ . {\'(( i Q\‘f“"z ‘\'LL ben PIAVSVITS ». D’VLL \"‘M‘g‘“fﬂo“ﬂ Q,o\/‘l\e:f’\‘o(\ \
W\ _ \\’
Luwckihy Kot v A ‘)ru’av‘) ?ra‘g\aw we  eshabifkel —\\ml-\/ +7 .0 )
chom € 00 ve el Ear vadation o0& pajemedery v
wWhiXe  on, ?»Mw\ﬂ L\diar v R Elowtyy Fore’

<y DRSS x—vlﬁﬂ cort

Q‘fa"l‘lf{h; ‘H\; ?»llontb 41[(‘}\“4\ . |
: - b t e '
Rir eapabion e gk @ V) < A (ubctiny

3 Lor some gnn:»f.‘o,\J \Illvm.
1
¢
D vey Vi) \,;Lk) math

' Re> A
{ 2 B - Lo {10y
( vy senb Ve O B =0 &p e W e\wﬂonp Ve gct

Vg = hif ;“\*a Yhe Seco _ "
\I: st ~ VL6 b fe). + v (=led 'k Hinl-(-)> N {(_L) 2 \/,j sl b ,f('t)‘
S e (T |
e Va - Ve ) e VA Cost ‘G(e)
T
Fews £ ¢ gins by
g ne  Sof of c hoig; Lo0 Vo Va oft V= g Col (o) d¢ SV, go Sin .

PV‘+M’> lvc.\’+\~f5 LODQH‘(' Wi DC-’r M.

1 3 C\'n‘tSeUS(S)q‘\ JS - Cojesf 9\0(8\ 'F(f)rls = §‘+<;iﬁ£C9) —(D!E(\Vaﬁj'("(-‘\\)’{ ~
i °

g’é €Y sn(e-0) s Wiy Mo g Jifecee o Arges Arig I‘Jcnﬁ"‘f?’.
g» e QWF*X sk ion 1) .
¢ talb) e, sin(E) »S? L0sY stn (6°9) 45
\’(Q‘)" !

ol (JC)I’M’.



